> for a from 1 to 1000 do
if isprime (a) and isprime(a+4) and isprime(a+6)
then print("a set of three primes, pattern 0,4,6", a, a+4, a+6) end if;
end do;
"a set of three primes, pattern 0,4,6", 7, 11, 13

"a set of three primes, pattern 0,4,6", 13, 17, 19

"a set of three primes, pattern 0,4,6", 37, 41, 43

"a set of three primes, pattern 0,4,6", 67, 71, 73
"a set of three primes, pattern 0,4,6", 97, 101, 103
"a set of three primes, pattern 0,4,6", 103, 107, 109
"a set of three primes, pattern 0,4,6", 193, 197, 199
"a set of three primes, pattern 0,4,6", 223, 227, 229
"a set of three primes, pattern 0,4,6", 277, 281, 283
"a set of three primes, pattern 0,4,6", 307, 311, 313
"a set of three primes, pattern 0,4,6", 457, 461, 463
"a set of three primes, pattern 0,4,6", 613, 617, 619
"a set of three primes, pattern 0,4,6", 823, 827, 829
"a set of three primes, pattern 0,4,6", 853, 857, 859
"a set of three primes, pattern 0,4,6", 877, 881, 883 1)

:> # enjoy this data
| > # good fun
| > # prime number p, and all three of p,p+4 and p+6 are prime numbers




